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Q1 Modulus of a cellular solid

Unpopular question. Most students calculated the relative density and modulus
correctly but struggled on calculating the strength in the bending-dominated direction.

Q2  Huxley cross-bridge model

Generally the students had no problems with this question with some candidates
making errors in calculating the optimal velocity for maximum power.

Q3 Qualitative question with regards explaining some observations including
structure of cell membrane, anisotropy of wood.

A popular question that was well attempted by most students. The main omissions
included students not discussing the scaling of the strength of wood in the different
directions and, mixing up which molecular motors are involved in cellular transport.

Q4  Qualitative question on muscles and ion pumps

Generally well attempted other than part (a) on explaining the concept of persistence
length and some students could not explain the role of insulin in glucose transport in
part (d).



